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= ~ Please write the balanced equation, total ionic equation and net ionic
equations for the precipitation of magnesium phosphate from the
addition of a magnesium nitrate solution to a sodium phosphate
solution.

= ~ The spring constant between the oxygen atoms in *°O, is around 1180
N/m. Calculate the angular frequency and the vibrational frequency of
O, molecule.

_ _ / k
(W oscillator — 2-I-rvoscillat'or W oscillator — T

~ ~When photons interact with molecules, two types of scattering can occur,
please define these scatterings in detail and describe where you can
observe them in nature.

1~ Why does a solution containing a greater amount of Yellow Dye No. 5
appear darker yellow than a solution that contains a smaller amount of
the dye?

- ~ Why are the calculations of frequencies of genotypes or DNA profiles
based on the Hardy-Weinberg principle likely to be underestimated?
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